A STRONGHOLD BY PRECISION AND POWER



F61
3555 B 9T

High speed and light weight type strong

finger chuck for aluminum wheel

PO ERRERERASRSSMME - FERDELREREL
RIFERE - N2 EHERE A -

2. BB EBREATEDIN, BS, ISO, ASA, B5-9, ARz X #iE% -

{1 : mm

Bz
1B

F61A8 13"-22" 610 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 145 MS125C35



F66
SRR E T

High speed and light weight type strong
finger chuck for aluminum wheel

1. FoORU SRR R BB ASHRESHNME - FRERgELKRARLER
MEERE WIS 0EEREAE -
2. LS HIERENFTEDIN, BS, ISO, ASA, B5-9, AR Z T EHIZE#E -

B8fi7 : mm

o st
it B B W 5 B OB o &

F66A8 19"-24" 660 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 182 MS125C35



NL-A
= METRPze R (SEER)

3-jaw long stroke through-hole power chuck
(adapter included)

. HRERE  hERBRTRE -

- REESENME  BHESECERLBRRE -
- BT A i RSB AR T -
CREHAEDENRIIRE 1K - TEETR -

hr W N =

Bfi1 : mm
R B
NL-06A5 40 15 24 2243 2651 28.5 3600 14.8 0.065 M1246 HJ06 HC06 035-3168
NL-08A6 @48 20 32 3701 4190 27.5 3000 28 0.21 M1552 HJO08 HC08 @50-0215
NL-10A8 66 25 375 4853 4486 295 2400 435 0.44 M1875 HJ10 HC10 055-0256

B
R~
NL-O6A5 168 96 140 20 15 82.563 116 104.78 16 6-M10 40 5 49 16.75 775 26 11 2 12 19 31 M55x2 3xM6 60 37 73 10

NL-08A6 215 112 170 25 17 106.375 150 133.35 18 6-M12 48 5 60.5 20.75 11.75 31.5 11.5 2 14 20.5 35 M60x2 3xM6 66 38 95 10
NL-10A8 256 125 220 30 18 139.719 190 171.45 24 6-M16 66 5 74.5 24751125 265 1.5 2 16 25 40 M85x2 3xM8 94 43 110125



BL
= MR 5o

3-jaw ball swing lock chuck

1

CAIS| AN I B s - MEF RS - hiAmERENE - oI TY5E

BIRMIRERMENEM SR L - BRRERBIRE -

OMBSMESRFE A E R - EHEERETUAREIRIIERFER

LA RN R FERTRERSEAGRERMENSBRRANES

REE - BN TYRFN0 T ERIMEM TN FE(RATHFE20°
HR) ©

M M IEE) - MEs KRR A I8 R IBE) - WMAERERIF(ER

RARTIIAEIS) -

AERENMEY  ~REREN—RRELFR  EEELEEHE

% JHRIREHEE (lock arm)ERERBHEE - IRLEEBRA -

B8fi] : mm

12.4

40.7(4152)

122(12440)

2.8(28.5) 2800 65 0.18 MS150C BL-12 @63-0240 / @127-0305



=Mizhiz\KER
3-jaw draw down power chuck

1. BB REEERKFRRBENEN - BRAREBA LRGN
mI -

2. BUXRGEIHRMEREER L - FRERE - BRENH -

3. BHREGSE  IRBER  IRAEERFNEERBE -

4. EENETERORBHRETHS LZEYE - BERREBENN
ITHEE -

B : mm

a2
OB W W & M OB e ok ox W

DR-06 10
DR-08B 10
DR-10 16
DR-10D 16
DR-12 16

7.2
7.2
11.6
11.6
11.6

15(1530)
25(2549)
35(3569)
35(3569)
44(4487)

25(2549)
45(4589)
60(6118)
60(6118)
71(7240)

2.1(21.4) 3500 15 0.05 MS105C DR-06
2.5(25.5) 3000 25 0.14 MS125C DR-08
3.3(34) 2500 46 0.374 MS125C DR-10
3.3(34) 2500 46.1 0.376 MS125C DR-10
3(30.6) 2000 76 0.88 MS150C DR-12

@35-0165
@40-0210
050-0254
@54-0254
050-0304

R 1

544 33 23 14 4 36 35 M16x2.0 32 335 45 35 35 20 Mex12

DR-06 165
DR-08B 210
DR-10 254
DR-10D 254

DR-12 304

85 140
90 170
110 220
110 220
125 220

104.78 16 6xM10
133.35 15 6xM12
171.45 23 6xM16
171.45 23 6xM16
17145 23 6xM16

58

713 677 38 28 15 5 36 40 M20x25 37 42 56 46 45 25 M8x16

878 82 48 32 226 6.6 46 50 M24x3.0 50 60 686 52.6 85 30 M12x18
9 971 47 31 215 55 50 60 M27x3.0 52 60 725 56.5 100 35 M12x18

102.

5
5
5 854 796 48 32 20 4 46 50 M24x3.0 50 60 66 50 55 30 M8x16
5
5



P165
PENTES TR

Floating plate center chuck
- BRAREERERIME—RAMI -

INTEE
Possible processing range

B{i7 : mm

P165 35 1.0(10) 6000 18.5 0.02 MS125C35



ZMESEPZHERE (FERWR)

3-jaw extra high speed through-hole
power chuck(adapter included)

1. REE&EETE10,000r.p.m. °

2. HNEUFEEE{RMRASA B5.9 ABY X EhiE#EMREt -

.HNEXRERASHRESSMME - REBIENEREEL NH
EEE > NiEnEEEENEAM -

B8fi7 : mm

12

5.5

30(3050)

79.4(8100) 2.9(30) 10000 11.5 0.035 HG-1336 Model-A

D14-051



SB-ES
BB T B S 5

Pneumatic power chuck

1. BERARERRER L
2. BRNNMERFZEEBREEAS R BEEE
3. BB R FF MR A MITE

EEfi] : mm
350-115 115 15 10 5 486 2-10 88 2200 104 1.82 13.5 SB350 SB350 @30-2360
*E & B S16bark

R 3

350-115 372 360 190 191.5 92 235 64/28 21 33.5 358 290.5 39.5 6-M12 115 6.5 100/85 12 33 3 21 G1/4" 44 92 M16 315 12 61 20 15



PB-ES

SR EETVEN I3 EE

Pneumatic power chuck

1. BRANEREZRBRIEE A S REBIIEE -
2. BRERFEFMEAMITE ©

3. RRFBFATEBNIRA -

4. BRFITERE -

B{i7 : mm
B8
600-275 275 25.4 16.9 8.5 954 2-10 180 1100 360 20.6 39.5 PB600 PB600 ©135-0275
850-375 375 25.4 13.4 12 1342 2-10 250 750 980 110 68 PB850 PB850 ©115-0375
*E{E FEE H16barfF

B R

R ~t
600-275 605280282450 79/38 20 37 585508 25 12-M12 275 8 204.6/179.2 14 26 3 255 G1/2 57 116.5 M20 535 508 35 508 35 15 60
850-375 850352354700 140/47 25 44.5830 745 30 12-M16 375 8 268/242.6 16 33 4 30 G1/2 75 182 M24 775 745 35 745 35 15 60



